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In what time will Rs. 8,000 become Rs. 12,167 at 15% per annum, compounded 

annually?

कितने समय में 8,000 रुपये िी राकि 15% वाकषिि िी दर से वाकषिि रूप से संयोकित होिर 

12,167 रुपये हो िाएगी?

1. 3 years

2. 2 years

3. 5 years

4. 4 years
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What number must be added to each of the numbers 7, 4 and 2 so that the 

resulting numbers may be in a continued proportion?

प्रत्येि संख्या 7, 4 और 2 में िौन-सी संख्या िोडी िानी चाकहए किससे पररणामी संख्याए ँकनरंतर 

अनुपात में हो सिें ?

1. 2

2. 4

3. 3

4. 5
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If a number of pens and pencils are bought in the ratio of 5 ∶ 3, then Ashok has 

to pay Rs. 44. If the ratio is changed as 3 ∶ 5, then he has to pay Rs. 36. Find the 

ratio of the price of one pen to one pencil.

यकद किसी संख्या में पेन और पेंकसल 5 : 3 िे अनुपात में खरीदे िाते हैं, तब अिोि िो 44 रुपये 

िा भुगतान िरना पडता है। यकद अनुपात िो 3 : 5 िे रूप में बदल कदया िाता है, तो उसे 36 

रुपये िा भुगतान िरना पडता है। तो एि पेन और एि पेंकसल िे मूल्य िा अनुपात ्ात िीकिए।

1. 5 ∶ 3

2. 7 ∶ 3

3. 8 ∶ 5

4. 7 ∶ 4
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A cylindrical pillar is 75 cm in diameter and 5.6 m in height. The cost of 

painting the curved surface of the pillar at the rate of Rs. 15 per m2 is:

एि बेलनािार स्तंभ िा व्यास 75 सेमी और ऊँचाई 5.6 मीटर है। 15 रुपये प्रकत मीटर2 िी दर से 

खंभे िी वक्रािार सतह िो रंगने िी लागत है:

1. Rs. 198

2. Rs. 195

3. Rs. 180

4. Rs. 188



Click to edit Master title style

• Edit Master text styles

• Second level

• Third level

• Fourth level

• Fifth level

The ratio of the curved surface area and the volume of a closed cylinder is 4 ∶ 7. 

If its total surface area is 253 cm2, then its height is:

एि बंद बेलन िे वक्र पषृ्ठीय के्षत्रफल और आयतन िा अनुपात 4 : 7 है। यकद इसिा िुल पषृ्ठीय 

के्षत्रफल 253 सेमी2 है, तो इसिी ऊँचाई है:

1. 9 cm

2. 10 cm

3. 8 cm

4. 5 cm
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How many minutes does Vishwa take to cover a distance of 1300 m if he runs at 

a speed of 26 km/h?

यकद कवश्वा 26 किमी/घंटा िी गकत से दौडता है, तो उसे 1300 मीटर िी दूरी तय िरने में कितने 

कमनट लगते हैं?

1. 3 minutes

2. 6 minutes

3. 5 minutes

4. 8 minutes
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The HCF and LCM of two numbers are 8 and 224, respectively. If the ratio of 

the two numbers is 4 ∶ 7, then the greater of the two numbers is:

दो संख्याओ ंिा महत्तम समापवतिि और लघुत्तम समापवत्यि क्रमिः 8 और 224 है। यकद दो 

संख्याओ ंिा अनुपात 4 : 7 है, तो दो संख्याओ ंमें से बडी संख्या है:

1. 54

2. 32

3. 48

4. 56
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In the first 20 overs of a 50 overs game of cricket, the run rate was 5.2. What 

should be the run rate in the remaining 30 overs to reach the target of 344 runs?

कक्रिेट िे 50 ओवर िे खेल िे पहले 20 ओवर में रन रेट 5.2 था। 344 रन िे लक्ष्य ति पह चँने 

िे कलए िेष 30 ओवरों में रन रेट क्या होना चाकहए?

1. 8

2. 7

3. 6

4. 7.5
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The profit earned after selling an article for Rs. 5,600 is the same as the loss 

incurred after selling the article for Rs. 2,400. The profit is:

एि वस्तु िो 5,600 रुपये में बेचने िे बाद अकिित लाभ, 2400 रुपये में वस्तु िो बेचने िे बाद 

ह ई हाकन िे बराबर है। तो लाभ है:

1. 25%

2. 32%

3. 30%

4. 40%
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4 men and 5 women can earn Rs. 8,800 in 8 days. 7 men and 10 women can earn 

Rs. 10,250 in 5 days. In how many days will 8 men and 12 women earn Rs. 

21,600?

4 पुरुष और 5 मकहलाए ँ8 कदनों में 8,800 रुपये िमा सिते हैं। 7 पुरुष और 10 मकहलाए ँ5 कदनों 

में 10,250 रुपये िमा सिते हैं। तो 8 पुरुष और 12 मकहलाए ँकितने कदनों में 21,600 रुपये 

िमाएगेँ? 1. 8 days

2. 9 days

3. 12 days

4. 10 days



Click to edit Master title style

• Edit Master text styles

• Second level

• Third level

• Fourth level

• Fifth level

The internal and external radii of a hollow hemispherical bowl are 20 cm and 23 

cm, respectively. What is the total surface area (in cm2) of the bowl?

एि खोखले अर्िगोलािार िटोरे िी आंतररि और बाहरी कत्रज्याए ँक्रमिः 20 सेमी और 23 

सेमी हैं। तो िटोरे िा िुल पषृ्ठीय के्षत्रफल (सेमी2 में) कितना है?

1. 2082 π

2. 1858 π

3. 1987 π

4. 2194 π



Click to edit Master title style

• Edit Master text styles

• Second level

• Third level

• Fourth level

• Fifth level



Click to edit Master title style

• Edit Master text styles

• Second level

• Third level

• Fourth level

• Fifth level


